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Instructions for candidates: 

1. Each question carries one mark. All questions 
are compulsory. 

}ftJt'f': 

1. U Tf )* 	I 	.iddl US I 

2. You have been provided with an answer sheet 	2. 	cJ f1T 141l? 	 Q' 	EfIZ iddl it 

(OMR) for this question paper. Darken the 	U I t3u )fZ ( 	){) JT) fr 14B• 7 rrft Q 
correct option of each question in the answer 	 I 
sheet (OMR) with black/blue pall ben. 

3. 
3. Rough work may be done on the blank space 

provided for this purpose. 	
4 fr flf%P1T WV ft3)-I (ii1) H'cifcJI 

?ftI 4. There is no negative marking in this test. 

5. Do not use white fluid on OMR Answer 
Sheet. 

5. 	. )b{. 	Qdkfl 	U 	fQg  t 
d1d1P I 

6. Half an hour extra should be given to 	6. fcdI Ild1jfltfTBHT 
physically handicapped candidates only. 	 lZ&,.l.dII I 



Direction: There is a number series following a pattern. 
One place is left blank. Find the correct answer from the 
given options Questions (1-5). 

(1) 	16,33,65,131, ,523 
(1) 	613 (2) 261 
(3) 	521 (4) 262 

(2) 	15,17,32,49,81,130, 
(1) 	211 (2) 226 
(3) 	179 (4) 194 

(3) 28,33,31,36 _,39 
(I) 	40 (2) 38 
(3) 	32 (4) 34 

(4) 62,64,30,32,14,16,_ 
(1) 	12 (2) 6 
(3) 	18 (4) 13 

(5) 38,62,74,102, 
(1) 	124 (2) 104 
(3) 	102 (4) 120 

Direction -In question (6-10) find the odd term/wrong term 
or which is different from the rest three terms. 

(6) (1) 	31:96 (2) 15:63 
(3) 	22:91 (4) 23.95 

(7) (1) 	DFGE (2) KMNL 
(3) 	PRSQ (4) UXWV 

(8) (1) 	(2,8,18) (2) (7,8,24) 
(3) 	(3,9,21) (4) (5,7,19) 

(9) (1) 	CGTX (2) QJUF 
(3) 	BFUY (4) DKPW 

(10)' 	(1) 	65 (2) 344 
(3) 	730 (4) 101 

Direction: In questions (11-13) the letters/numbers follow 
a definite pattern. Find the missing letter/number to 
complete the pattern. 

(11) bcc - ac aabb ab _cc 
(1) 	bacab (2) 	bcaca 
(3) 	aabca (4) 	abaca 

(12) gfe 	2g _e22_fe2_0 _22 
(1) 	e2fg2 (2) 	2fg2g 
(3) 	e2g2e (4) 	2fg2e 

(13) 00_0_1_0_0_1 
(1) 	10010 (2) 	01011 
(3) 	01100 (4) 	00111 

1 

rod M - 	(1-5) 	 it 
)fE( ?jT f fE zi d 	fu H H U 	wt w 

(1) 16,33,65,131, 	,523 
(1) 	613 (2) 261 
(3) 	521 (4) 262 

(2) 15,17,32,49,81,130, 
(1) 	211 (2) 226 
(3) 	179 (4) 194 

(3) 28,33,31,36 _,39 
(1) 	40 (2) 38 
(3) 	32 (4) 34 

(4) 62,64,30,32,14,16,__ 
(1) 	12 (2) 6 
(3) 	18 (4) 13 

(5) 38,62,74,102, 
(1) 	124 (2) 104 
(3) 	102 (4) 120 

w 	1cUT f 	f 	fc& ift 1odH -fThV 

(6) (1) 	31:96 (2) 15:63 
(3) 	22:91 (4) 23.95 

(7) (1) 	DFGE (2) KMNL 
(3) 	PRSQ (4) UXWV 

(8) (1) 	(2,8,18) (2) (7,8,24) 
(3) 	(3,9,21) (4) (5,7,19) 

(9) (1) 	CGTX (2) QJUF 
(3) 	BFUY (4) DKPW 

(10) (1) 	65. (2) 344 
(3) 	730 (4) 101 

—f 	3T f 	foH r d 	'U' 	T 	Wd Th! fo d 

f i 	 'v 	u 	'- 
(11 - 13) 

(11) - bcc - ac aabb _ab _cc 
(1) 	bacab - (2) 	bcaca 
(3) 	aahca (4) 	abaca 

(12) gfe _2g _e22fe2gf _22 
(1) 	e2fg2 (2) 	2fg2g 
(3) 	e2g2e (4) 	2fg2e 

(13) 00_0_1_0_0_1 
(1) 	10010 (2) 	01011 
(3) 	01100 (4) 	00111 



(2) 	9 
(4) 	10 

(1) 	5 	 (2) 	9 
(3) 	21 	 (4) 	10 

(1) 	5 
(3) 	21 

,. 

Direction : In question (14-16 ) Developing relationship f6dII -l4Rl (14- 16) fVV 	fOkl'O 	W 	1 t))1*  
among items on the left side of sign :: find relationship on Tf' f 	**tr BWU3 	l&:PO 	# A!!# 1.P 
the rights side of sign :: by choosing from alternatives. 

(14) 	18:48 ::100 : ? 
(1) 	160 	 (2) 	180 (14) 	18:48::100:? 
(3) 	120 	 (4) 	144 (1) 	160 	 (2) 	180 

(3) 	120 	 (4) 	144 
(15) 	JOB: JOKE:: ROB:? 

(1) 	ROBE 	 (2) 	RODE (15) JOB: JOKE:: ROB:? 
(3) 	ROAL 	 (4) 	ROSE (1) 	ROBE 	 (2) 	RODE 

(3) 	ROAL 	 (4) 	ROSE 
(16) Tagore : Poetry :: Picasso:? 

(1) 	Art 	 (2) 	Literature (16) 	 ::fiJ:? 
(3) 	Painting 	(4) 	Architecure (1) 	3w 	 (2) 	H'iJ 

(3) 	j:.i9:r 	(4) 	Mida0codd 

Direction -In question (17-23) find the missing term that 
will come in place of question mark. 16d-(17-23)ff 	 1 

(17)  
I 137 13 I tzQn 	II OIQ I (17) I II ii I 

I _ 	 I 

235 405 735 
274 350 

(1) 	366 	 (2) 	345 
(3) 	482 	 (4) 	432 

(18) 

;j( 	ou 

235 405 735 
274 350 

(1) 	366 	 (2) 	345 
(3) 	482 	 (4) 	432 

(18) 

108 ? 

63 113 
108 	? 

(2) 	36 
(4) 	72 

(I) 	68 
(3) 	54 

(2) 	8 
(4) 	6 

9 	17 

13 	12 

? 13 

9 17 69 

13 12 62 

? 13 81 

63 	113 

(I) 	68 	 (2) 	36 
(3) 	54 	 (4) 	72 

(19) 6 	10 	? 

	

3 	2. 	2 

6 20 4 

12 25 64 

(1) 	12 	 (2) 	8 
(3) 	10 	 (4) 	6 

(20) 

6 10 ? 

3 22 

6 20 4 

12 25 64 

(19) 

(1) 	12 
(3) 	10 

(20) 
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(21) (21) 

F612 E 1413E F7T5E 	
1612E F4T3.L 1715E77  

(1) 	8 	 (2) 	10 	 (1) 	8 	 (2) 	10 
(3) 	13 	 (4) 	6 	 (3) 	13 	 (4) 	6 

(22) (22)

YY Y 

  

(1) 	24 
	

(2) 	22 
	

(1) 	24 
	

(2) 	22 
(3) 	21 
	

(4) 	19 
	

(3) 	21 
	

(4) 	19 

(23)  
35 	43 I 28 /"N. 45 I I 15 "S'  32 I 

40 	 10 

NzHN/  
(1) 	38 (2) 	35 
(3) 	28 (4) 	25 

(24) If Physics= 106 
Then Biology =? 
(1) 	90 (2) 	92 
(3) 	82 (4) 	87 

(25) If Blue = 160 
Then Book= ? 
(1) 	182 (2) 	162 
(3) 	43 (4) 	172 

Direction : In question (26-27 ) Find the correct group of 
signs to solve the Equation. 

(26) 'ii 	* 	* 	ir 
(1) 	x,=,+ (2) 	+,=,x 
(3) 	+,=, - (4) 	-, x,= 

(27) 24*34*2*5*12 
(1) 	+,-,x,= (2) 	=,±,-,+ 
(3) 	+, ~,=,x (4) 	=,--,+,- 

Direction : in questions (28-31) six children P, Q, R, S, T, 
U are playing football. P and Tare brothers, U is the sister 
of T,R is the only son of P's uncle , Q and S are the 
daughters of the only brother of R's father. 
(28) How is R related to U? 

(1) 	Brother (2) 	Cousin 
(3) 	Uncle (4) 	Son 

(23)  

L  35 	43 28 	45 15 	32 

40 	 10 

	

11 	16 	is 	40 2 28_ _ 0 1<5  > 

(1) 	38 (2) 	35 
(3) 	28 (4) 	25 

(24) FWU Physics= 106 
3T Biology =? 
(1) 	90 (2) 	92 
(3) 	82 (4) 	87 

(25) #OTa Blue =16O 
Ut Book = ? 
(1) 	182 (2) 	162 
(3) 	43 (4) 	172 

f6H -143? (26-27) 	 dI1ec* f1 

1Rr 	I 

(26) * 	* 	* if 
(1) 	x,=,+ (2) 	+=,x 
(3) 	+,=, 	- (4) 	- 	x,= 

(27) 24*34*2*5*12 

(1) 	+x,= (2) 	=, 	,-,+ 
(3) 	+, 	=, x (4) 	=, 

I6dH 4R (28 - 31 f 	 P,Q,R,S,T,U 
P 4f,9- T w UK, U, I 	I A, P 

I 	0 	S, R # 
TV 
(28)  

(1) 	TaT (2) 	'' 

(3) 	UrUr (4) 	i.f 
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(29) How many male players are there? 
(1) 	One 	 (2) 	Two 
(3) 	Three 	 (4) 	Five 

(30) How many female players are there? 
(1) 	Four 	 (2) 	Three 
(3) 	Two 	 (4) 	One 

(31) How is Q related to P ? 
(1) 	Sister 	 (2) 	Uncle 
(3) 	Neice 	 (4) 	Cousin  

(2 9) 	 yEr I%f 	UN ? 
(1) 	fz 	 (2) 
(3) 	f5. 	 (4) 	C1T 

(30) fitt 1H3j fr' U?? 

(1) 	ura 	 (2) 	f? 
(3) 	. 	 (4) 	f .  

(31) QP?t)*tT? 

(1) TT 	 (2) WT 

(3) 	el BI :Ffl 	 (4) 	1 

(32)Fhfu '75 	& 	fjT F T 	'J' t '4T' fJT 
(32) 	If "Red" is called "Green"; "Green" is called 

 "Yellow"; "Yellow" 	"Violet"; "Violet" is called 	 is 
"Blue"; "Blue" 	"Orange"; called 	 is called 	Then 

? what is the colour of Vegetable Lady finger 
(1) 	Green 	 (2) 	Blue (1) 	U 	 (2) 	?W 

(4) 	dll 
(3) 	Yellow 	 (4) 	Violet 

fOdH  - B (33-66) f r f4WT ?7W i4 
Directions -Questions (33-66) study the columns and 

. 	 THI 	 fftuj 
answer. In column I some words are given and their codes izr~ 11 
are given in column II. The codes in the column II are not f€- 
in the same order as the letter of words in column I 
(33) 	Find the code of 'F' 	Column I 	Column 11 (33) 	'F' 	 Column I 	Column II 

(1) 	p 	(2) 	c 	FLOUR 	xncap (1) 	p 	(2) 	c 	FLOUR 	xncap 
(3) 	x 	(4) 	a 	TAP 	ksd (3) 	x 	(4) 	a 	TAP 	ksd 

ROSE 	cmrn ROSE 	cmrn 
(34) 	Find the code for 'P' 	LOTUS 	smcpx (34) ?'Fr 	 LOTUS 	smcpx 

(I) 	d 	(2) 	k 	SAIL 	kptm (1) 	d 	(2) 	k 	SAIL 	kptm 
(3) 	s 	(4) 	C (3) 	s 	(4) 	c 

(35) Code of 'Last' word (35)9ErU'Last't f 	feV NM @ a1 i 
(1) 	pkns 	 (2) 	mcrx (1) 	pkns 	 (2) 	max 
(3) 	pkms 	 (4) 	pkds (3) 	pkms 	 (4) 	pkds 

(36) What is Code of 'PLASTER' word 
(1) 	dpkxcrn 	(2) 	dpkmsrn 
(3) 	apxkrnd 	(4) 	mrnxpak 

(37) How many 5's are there in the given number 
sequence each of which are immediately preseded 
by 3 or 4 but are not immediately followed by 8 or 
9. 
35954553584567357554523510 
(1) 	5 	 (2) 	4 
(3) 	3 	 (4) 	2  

(36) RVU 'PLASTER f k -  f 	fftt I 
(1) 	dpkxcrn 	 (2) 	dpkmsrn 

(3) 	apxkrnd 	 (4) 	mrnxpak 

(37) f5' Tt 

RfEFY 4 fir f 	'5' t fj 8 08 ZJ fb3* ,çf -  3 W4 

*Zr '5' t fct{ -of 	8 W 9 

35954535846737554523510 
(1) 	5 	 (2) 	4 
(3) 	3 	 (4) 	2 

(38) How many M's occur in the following letter series 	(38) 
which are preceded by 'W' and followed by 'v' 
X U V MRS T M W N V MW OP MU V MW A 
CWMVHPNVMWMT 
(1) 	3 	 (2) 	1 
(3) 	2 	 (4) 	5  

f 	 t f 'M' 4& M-9 H4'O' 

'M' t 3ta 4fm5 'W' )?1 	Thf 

v 
X UVM R STM WN VMWO PM UVMWACWMV H 
PNVMWMT 
(1) 	3 	 (2) 	1 
(3) 	2 	 (4) 	5 

to 
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(39) Find the word which cannot be formed from the 
letters of the word 'INFRASTRUCTURE'. 
(1) RESTRAIN 	(2) FRACTURE 
(3) CHARTER 	(4) NATURE 

(40) Find the word which can be formed from the letters 
of the word 'ENVIRONMENT'. 
(I) ENVY 	(2) ENTERTAIN 
(3) ENTRANCE 	(4) EMINENT 

Direction -Read the information carefully and answer the 
questions (41 to 44) -P,T,V,R,M,D,K and W are sitting 
around a round table. V is second to left of T, T is fourth 
to Right of M, D and P are not immediate neighbours of 
T. D is the third to the right of P. W is not an immediate 
neighbour of P. P is to the immediate left of K. 

(41) Who is second to left of K 
(1) 	R 	 (2) 	P 
(3) M 	 (4) W 

(42) Who is to the immediate left of V 
(1) 	T 	 (2) 	M 
(3) 	D 	 (4) 	W 

(43) Who is third to right of V 
(1) 	P 	 (2) 	R 
(3) 	K 	 (4) 	T 

44) What is P's position with respect to V 
(1) Fourth to the left 
(2) Second to the left 

(3) Fifth to the right 
(4) Third to the right  

(39)f 	W @U R 	 'INFRA- 
STRUCTURE' 

	

(1) 	RESTRAIN 	(2) 	FRACTURE 

	

(3) 	CHARTER 	(4) 	NATURE 

(40) f 	 ; f 	r 	 j 

'ENVIRONMENT' t 6ut 	Frr wur l  

	

(1) 	ENVY 	 (2) 	ENTERTAIN 

	

(3) 	ENTRANCE 	(4) 	EMINENT 

fodH-f3t 	H'c'dl ftPw? ?' 	ma fk~ 
Ulu 

P,T,V,R,M,D,K'n W& 
IT ,M 

H 1.P* 	 I D W4 P, T 
sft U,5 1 D, P # H 1.P* 	 I W, P Vr N o 318  
c' wwlt 	I P, K 	 fr ZA ftJF 

(41) K 	*RT? I 

	

(1) 	R 	 (2) 	P 

	

(3) 	M 	 (4) 	W 

(42) V 	 I 

	

(1) 	T 	 (2) 	M 

	

(3) 	D 	 (4) 	W 

(43) V 

	

(1) 	P 	 (2) 	R 

	

(3) 	K 	 (4) 	T 

(44) V 	**T f 	P 
(1) fTT 

(2) JT$JW 

(3) 
(4) 3f# 4TjT 

Direction Questions (45-46) Four postions of the same 
dice have been shown . Select the alternative which 	I6dH-(45--46)l 
provides correct answer to the question asked. 	 JI ft V,-CTW* /Ulw fctf  UT 

UVI 

4 
3 6 E4 U2 2 

1 	4 L3 6 E4 6E2 2L1 
I 	II 	III 

(45) Which number would be Opposite to 3 
(1) 	6 	 (2) 	5 
(3) 	1 	 (4) 	4 

(46) Which number would be opposite to 5 
(1) 	6 	 (2) 	4 
(3) 	3 	 (4) 	2  

Iv 	 I 	II 

(45) 3 Q57 111* fc(J' *ar JdI' 
(1) 	6 	 (2) 

(3) 	1 	 (4) 

(46) *Zr 5 	5? fcJ 	7)f  jdI' 
(1) 	6 	 (2) 

(3) 	3 	 (4)  

III 	IV 

5 
4 

4 
2 
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(47) In a row of twenty five children Gagan is the 14th 
from the right end. Varun is third to the left of 
Gagan. What is Varun's position from the left end 
of the row. 
(1) 	Seventh 	(2) 	Tenth 
(3) 	Eighth 	 (4) 	Nineth 

	

(48) 	A person is to climb a tree of 50 feet height. In every 

second he climbs 5 feet but slips down 4 feet. After how 

many seconds he will be able to touch the top of tree? 

(1) 	50 	 (2) 	46 

(3) 	49 	 (4) 	48 

	

(49) 	Anju walks 15 metres toward north, then she turns left 

at 900  and walks 30 metres, then turns right at 90 0  and 

walks 25 metres. How far is she from the starting point 

and is in which direction 

(1) 50 metres, north-west 

(2) 50 metres, west 

(3) 55 metres. north-east 

(4) 60 metre, noth 

	

(50) 	Karan wants to go to college which is situated in a 

direction oppostie to that of a Mall. He starts from his 

house which is in the east and comes at a four way 

place (Churaha). His left side road goes to the Mall and 

straight in front is the Bus Stand. In what direction is 

the college located? 

(1) 	North-East 	(2) 	South 

(3) 	East 	 (4) 	North  

(47) 25 	 37 fq iic Ur 	4T t  14Vt  

(1) 	 (2) 	'HT 
(3) 	15@ 	 (4) 	' 

(48) f 	fn:3 t 50 ' I 

ft 	f 	fit 5 Ut 	 ' 4' 4? 
t -tr RT l f&Ma 1)){ '  U 	f3t 

fR1iU?UdIt? 

(1) 	50 	 (2) 	46 

(3) 	49 	 (4) 	48 

(49) 	3U 	 15 )-flZ •dt] I ft 	U 90 0  i .  

U'* 	30 )'f1Z 	5t1 I fUU QU 900 

W urFr 	H Wft 4 'f 25 KIZU  

1cJ1 few fI 

(1) 50ff -1-)-f 

(2) 50)-ffU-f){ 

(3) 55)d-' 

(4) 60)ftU@3U 

(50) 	c '5i-1 W? id i d e - 	fcT HT5 it 5Z fw 

frfr i w' 
)f 	 d' 4 I 	W U 	 }.T5 

& 
c' 

1) 	Qi 	 (2) 	Uf? 
(3) 	IFdTF - 	 (4) 	Q-:U 

Direction 	: 	In 

questions (51-54 ) the 

following diagrams 

circle stands for 

Insurance agents, 

the square stands 

for hard working , the 

triangles stands for 

rural people and 

rectangle stands for 

graduates. Based 

upon these diagrams 

answer the 

questions. 

f?thr l.LE 
(51 - 54 ) 
fU f 	U 

2 

wrQr 	I 

r 	fr't 
? 

i 	f3 i~? e- 'cr 
-F 3rT 

)flTft3 	didi 

r tdWQe' 
i f-t 

(51) Non-rural and hard working Insurance agents who 
are graduates are indicated by the region 	 (51) 

(1) 	9 	 (2) 	5 

(3) 	10 	 (4) 	7  

1c' 	1U-4f4 fo1 	T 

dIdi-1H r?;, ? td}1'e' 

(1) 	9 	 (2) 	5 

(3) 	10 	 (4) 	7 
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(52) Insurance agents who are neither graduates nor 
hard working but rural are represented by the 
region. 
(1) 	12 	 (2) 	11 
(3) 	10 	 (4) 	8 

(53) Hard working non-graduates rural agents are 
represented by the region 
(1) 	6 	 (2) 	9 
(3) 	7 	 (4) 	12 

(54) Non-graduates insurance agents who are not hard 
working and who do not belong to rural areas are 
represented by the region 
(1) 	6 	 (2) 	5 
(3) 	8 	 (4) 	11 

Direction In question ( 55-57) which of the following 
diagrams correctly represents the relation between given 
three items 

0 0 0  @ (B 
(1) 	 (2) 

00 (6\ 
 0 

(3) 	 (4) 

(55) Universe, Earth, Europe 

(56) Door, Window, House 

(57) Radio, T.V., Cinema Hall 

Direction - In question (58-59) Arrange the words as they occur 
in the dictionary and choose the correct sequence. 

(52) NOW 	1W @r#7 	dIj 	Th 	s' ft 
fHJo1 	 I 

(1) 	12 	 (2) 	11 
(3) 	10 	 (4) 	8 

(53) Icj' 	f1Jod1 1 	t d 18 tj @ Z ?fr 
UW,t tdH'Qt' i 

(1) 	6 	 (2) 	9 
(3) 	7 	 (4) 	12 

(54) fcj' 
R?dH'Qt' 

(1) 	6 	 (2) 	5 
(3) 	8 	 (4) 	11 

IOdtH (14B55-57) f4V tTtffEitJ,d1 f1cicj' 
fddd 41Rc WV ft 
tdH'Qe' 41 

0 0 0  
(1) 	 (2) 

00 
0 (9 

(3) 	 (4) 

(55) kfJcr,zT3t,hr 

(56) td'tI' 

(57) f1rHT  Urg  

fOdtH - 1{Jf? (58-59) f 	fc*&jt f4V V'_CT& R)-IU 

fir IT  H 	31dIl mr' • HH ')fHT 

(58) 	(I) Select (II) Seldom (58) 	(I) Select (II) Seldom 

(Ill) Send (IV) Selfish (Ill) Send (IV) Selfish 

(V) Seller (V) Seller 

(1) ll,V,IV,l, Ill (2) lI,I,V,IV,lll (1) II,V,IV,l, III (2) ll,I,\/,IV,IlI 

(3) l,Il,IV,V, III (4) 11,1, 	IV,\/,IIl (3) III,IV,V, III (4) 11,1, IV,V,IIl 

59. 	(I) Continuation (II) Contention 59. 	(I) Continuation (II) Contention 

(Ill) Contain (IV) Continuous (Ill) Contain (IV) Continuous 

(V) Count (V) Count 

(1) lIl,ll,l,IV,V (2) lIl,ll,IV,l,V (1) IU,II,l,IV,V (2) IlI,lI,IV,I,V 

(3) IlI,II,IV,V,l (4) lll,l,Il,IV,V (3) Ill,lI,IV,V,l (4) lll,l,Il,IV,V 
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Direction -Q (60-61) if > denotes +, <denotes -, + denotes . 	fOdtH - l{: (60-61) # > H5 + , < )f5 -, + )•f 	+, 

A denotes x, - denotes =, x denotes > , = denotes <. Choose 	A H3ZM X , - 	= , X H9> = K37W < 

the correct statement in each of following questions 	fr5fkP40 few IC(J' 	mft ? 

60. 	(1) 	14>18+9=16+4<1 60. 	(1) 	14>18+9=16+4<1 
(2) 	3<6A4>25=8+4>1 (2) 	3<6A4>25=8+4>1 

(3) 	12>9+3<6x 25+5>6 (3) 12>9+3<6x 25+5>6 

(4) 4>3A8<1-6+2>24 (4) 	4>3A8<1-6+2>24 

61. 	(1) 	7A7>7+7=7A7>1 61. 	(1) 	7A7>7+7=7A7>1 
(2) 	7>7<7+7=14 (2) 	7>7<7+7=14 

(3) 	7<7+7=6 (3) 7<7+7=6 

(4) 7+7>7=8 (4) 	7+7>7=8 

62. 	A father is three times as old as his son. Five years 
ago he was four times as old as his son. Find the 62. 	fizarift 

present age of the son 4 I l.FIT Hr& l4fTh5t @TnEft Qii 	t 
(1) 	17 years 	(2) 	15 years fqWrigr Fft i I 	@)-ff fs9  i;@ d fl i 
(3) 	12 years 	(4) 	19 years (1) 	17W 	 (2) 	RTF  

(3) 	12W 	 (4) 	19WZi 

63. 	An ice compartment of a refrigerator is 6 Cm wide 
and 8 cm deep (long) and 5 cm high. The number 63. 	gff# W 19W VW W?T 6 	 8 PA. fW 
of cubes of ice having an edge of 2 	c will there be (t T ) W4 5 	W 4 2 3T A. N e) 	Vr& fk 
in the compartment UI 	ft 	 f 	t? 
(1) 	80 	 (2) 	30 (1) 	80 	 (2) 	30 

(3) 	24 	 (4) 	20 (3) 	24 	 (4) 	20 

64 	What is the least number of coins required to make 	64 	1,5,10,25 Oft U& Uft W W fH5 fft a fipgr 

one rupee from different coins of 1,5,10 and 25 paise 	i'Qcdl at f lift uft f 	t vr fWr ii 	i 

so that you have at least one coin of each type 	 (1) 	11 	 (2) 	12 

(1) 	11 	 (2) 	12 	 (3) 	7 	 (4) 	4 

(3) 	7 	 (4) 	4 

65 If "STATION MASTERS MIND THE TRAIN'=98 	65 #3ff "STATION MASTERS MIND THE TRAIN' =98 
Then "SCHOOL MASTERS TRAIN THE 	"SCHOOL MASTERS TRAIN THE MIND"? 
MIND " =? 	 ( 1) 	96 	 (2) 	85 

(1) 	96 	 (2) 	85 	 (3) 	99 	 (4) 	72 

(3) 	99 	 (4) 	72 

66 	At what time between 4 and 5 O'clock will the 
minute hand and hour hand of a clock be in opposite 
direction 
(1) 40 minutes past 4 

(2) 54 	minutes past 4 

(3) 42 minutes past 5 

(4) 54 minutes past 5  

66 

ffff V# # fJcVd fw Rrw Ww U#ift 1u1 few 

(1) 4Thf40MZ 

(2) 4 	 54 - fz @• 

(3) 5ThW42f 

(4) 5 iEl• 	54 	fiiz 4 
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67 	The minute hand of a clock overtakes the hour hand 
at intervals of 65 minutes of the correct time. How 
much in a day does the clock gain or lose? 

(1) Lose 10 1  minutes 

(2) Gain minutes 
143 

(3) Gain 11_1Q_ minutes 
143 

(4) lose 11 _i!L minutes 
143 

67 

65f#4d' 	 fiev  
f+ p{r 	11t 	iø fi.i 	'dI1 I 

(1) iofiizfi- 

(2) io.:i:!&fcfzfi.r .  

(3) 11-•10  • 

10 
(4) 

68 	Any day in April is always on the same day of the 	68 	)115  Hitt 	t fS JcW 	Q* ft fs 
))P1T f 	f 	jff 	f 	f week as the corresponding day in 

(1) 	June 	(2) 	December 	 flOH'dl f 	iii' ?
- 

(1) 	?c 	 (2) (3) 	July 	(4) 	August 	 - 

(3) 	'1 	 (4) 	4fTr3 
69 	On what dates of August 1980 did Tuesday fall? 	 ___  

69 	fTFf 1980 	fu',i dlc t )icJi'd ,ft? (1) 2nd, 9th, 16th , 23rd, 30th 
(2) 3rd, 10th, 17th 24th, 31st 	 (1)  
(3) 	4th, 11th, 18th, 25th 	

___ 	_____ 
(2) 	f' , 	 }1'd', ut, Ic4dl 

14 
(4) 	5th, 12th, 19th, 26th 	 (3)  

(4) 

70 	Teena's income is 25% more than Meena. By what 70 	 SWT )Th5' 	 25% fiPpr 
percent Meena's income is less than Teena 	 .fl-i f ?2i'U 	t 	fk 	w 	i 
(1) 	20 	(2) 	18 
(3) 	25 	(4) 	15 	

(1) 	20 	(2) 	18
(3) 	25 	(4) 	15 

71 	Find Correct conclusion from Statement 71 f4WW t Wift fR?- 
Statements: (I) Mohit is an artist 	 Rfiju ffw  

(II) Artists are beautiful 	 (II) 	i• 	I 
Conclusions 
(1) Mohit is not beautiful. 	 (1) 	ci-fj 	•r jTh 
(2) All beautiful Persons are artists. 	 (2) 	 I 
(3) Mohit is beautiful. 	 (3) 	çffrJT3 )j 	I 
(4) Beautiful Persons are not artists. 	 (4) 	AVU f)){E 	'c'd ?IJThM7 I 

72 	How many triangles 	 72 f 	f 
and Parralelograms 	 fj* NO a- - 
are in the given 
figure 	 UW
(1) 	21,17 	 (1) 	21,17 
(2) 19,13 	 (2) 	19,13 
(3) 19,17 	 (3) 	19,17 
(4) 21,15 	 (4) 	21,15  

73 	Select from the four alternatives, the box that can 	73 	fe 	of 8  f 	firr nw 
be formed by folding the sheet as shown in figure. 	Tt ftJd fVV 	fdI 

E E 	LLI~ 	LLI~ LL2 	E 	
A) 	(B) 	(C) 	(0) 

(A) 	(B) 	(C) 	(D) 

CD 

(1) 	B only 	 (2) 	Aonly 	 (1) 	5B 	(2) 

(3) 	A and Conly 	(4) 	A,B,C and D 	 (3) 	aV6 AI@C 	(4) 	A,B,C'){D 
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74 	Find the Mirror Image of figure. 

PLEDGE 
///II/I/II//// 

P13DCE 	bI3DCE 
(1) 	 (2) 

b1EDE 	bI3OCE 
(3) 	 (4) 

Direction In questions (75-77) find the correct alternative 
from the Answer figures to complete the question figures 

75 	 Question Figure 

Answer Figures 

—41—  )~ —< >— ):~( 
76 	 _ 

Question Figure 

Answer Figures 

77 

Question Figure 

? 

Answer Figures  

Direction - In questions (78-80), The question figure is 
embeded in one of the Answer figure. Find the alternative 
in which it is embeded. 

74 

PLEDGE 
I///////////I/ 

P13DE 	bI]DCE 
(1) 	 (2) 

bIEDCE 	b13CE 
(3) 	 (4) 

fcS 	(75 -77) f 	 fr rrff 1c5tr 
frr ?TF tMT fjjZffr U FFcT I 

75 	 tmw1dd 

QgEr rd  

HHLEJH?HL( 
76 

qIR rd 

1 	2 	3 	4 
77 

rd 

Qf r d 	L!J 

1 	2 	3 	4 

kdH-1 --  (78 - 80) feU ITRT ItJd, 	Idd' 

fft fear f 	1irr  ifv U,  I 
fu Clu e44F jfçr  4 I 

78 	 Question Figure 	 78 

Answer Figures E ll  
9[FflFz1 

r 	d 

Qdrdd 
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79 	 Question Figure 
	 79 

Answer Figures 
	 rd 

80 	 Question Figure 

vv 

Answer Figures 

mum, MINIBOOM m 
Direction - (Question 81 -83) Paper is folded as shown with 
the dotted lines in 'X' & 'Y' and the last figure 'Z' has been 
cut. How would the paper look like when unfolded. 

80 	 I 	 1 

Qd [d 

IL1 

1d[E 81 - 83) fV4a 'x' 	'Y' f 	i'c' 
fftr'Z' 

[TW 	faPV I U14 	 fU fiT 	dI'? 

81 	 Question Figure 	 81 	 -TR5 rid 

- - A~- - A~- x 	y 	z 	x 	y 	z 
Answer Figures 	 TJ rd 

82 	 Question Figure 

Answer Figures 

A A VV 
7 7VVVV 

82 
in 

Hr1 
A A VV 

7 VVVVV  ~---V" 

83 	 Question Figure 	 83 

Q0  

Answer Figures 

QQ '51 I b°0 	1 bCç 	I tc 7 
I 	 10 

0,_i 	O,I 	 0 
t 	

___  

f3 

y0  cc/j 	o 
0,_iQ 	 t-J 	

0 
- 

1 	 2 	 3 	 4 
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Direction - In questions (84-86), which figure among 
Alternatives will replace the question mark according to series. 

84 	 Question Figure 

[i[]ëiLQiH1 
Answer Figures 

KDHQJLLQJ 
85 	 Question Figure 

Cal- .  
Answer Figures 

86 	 Question Figure 

Answer Figures 

LE51[51 
87 	Direction - First rotate the figure by 900  in clockwise 

direction and then find out the water Image from 
the given Alternatives. 

	

Question Figure 	_____ 

Answer Figures 

L —1 
1 	2 	3 	4 

Direction - In questions (88-90) select the alternative which 
satisfy the same condition of placement of dots as shown 
in the figure 
(88) 	 Question Figure 

Answer Figures 

1 	 2 	 3 	 4  

1od H 	(84-86) 	 4B f 

84 

[0110 .I 	L HI 
Rd 

LHQJLILeJ 
85 

Qu rJd 

[a - - 0*7  
12 3 4 _ 

86 

@1Er Idd 

G) 
- 	 LKll[ 

87 	roddH —f - 	f 	uit 	 f fw 
3{W 1H' 7  @zj f 	P~cmwf 	w1 
f11i 	t 1c5&f 	I 

J  r L 7 ___j 	i,- 
I6d Hf 	 i.rt  fVV f 	u 
fcrrr fr f 	fkE N Id 9 f*r o' 

f* 	(88 -90) 
(88) 	 UTI-5 rd 

y j fOt. 
1 	2 	 3 	4 
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89 	
Question Figure 
	 89 	

ZMT [d 

Answer Figures 
	

Qr Rdd 

IJ S<aw 	
1 2 3 4 

90 	Question Figure 	- 

Answer Figures  

LIZ  -,47 

Direction - In question (9 1-93) figure A and B are related 
in some Particular Manner. Replace question mark for 
figure D, by developing same relationship between C and 
D as is between A & B 

91 	Question Figure 

Answer Figures 

1 	 2 	3 	4 

92 Question Figure 

?D  

Answer Figures 

1 	2 	3 	4  

90 	 fId  

Q3T f'dd  

1L\11FJ 
1 -.[E (91 - 93) fr Ri.d A 4F4 B fr wr r TIY  

H4U Jw i 91ft ift Rgru t fiid C )f  0 fr rr 
ff 	'0' f 	f 	f 	t 	t 

91 

@d [d 

' X1  L-2  C 
1 	 2 	3 	4 

92  
irn 1  

Q 	rd 
-o 	o- 	-o 	o- 

I 	 T 
--C 	 '1' 

.1. 
1 	2 	3 	4 

c 



Question Figure 

1 
Answer Figures 

k,  MOM i I - All IN M ONE  

	

1 	2 	3 	4 

Direction -In question (94-95) out of four figures, one figure 
is different, while the others are similar in some way. 
Find out the different figure. 

(94) 	rvyv'y-\ 

IIlIIIIIIIIIIIIIIIIIIIIIlIIlI 

1 	2 	3 	4 

	

(1) 	1 	 (2) 	2 

	

(3) 	3 	 (4) 	4  

14 

93 	 Icid 

Qd RJdd 

M119 101 1fl,  
fOd - W4 UMt 4S (94-95) f 	fd' W f 
fdd fr 37  f 	+ )JT)JJ fVV 4U WU UT,  fft f 

. if 	 i 

rivyc' 

1 2 3 4 

(1) 1 (2) 2 
(3) 3 (4) 4 

(95) -- 	 - 	 95 	- 	 -- -- 	 - 

7,; L 	3; 

Direction - In question (96-97) Five diagrams A,B,C,D,E 
are given. Three out of these when put together make a 
square. Find the alternative which one has three such 
diagrams. 

IodH-14B? (96-97) W 1'IIT kii A, B, C, D, E f 
J? i tiyt f 	f W3 d # fo 	f 	r 
iaT WeT 4 1 fbR RAift nt fc*&f 	 I 

(96) 

riri _ 

(1) 	A,B,D 	 (2) 	A,C.D 
(3) 	B,D,E 	 (4) 	B,C,E  

96 

F77~ 	E:~j 

(1) 	A,B,D 	 (2) 	AC.D 
(3) 	B,D,E 	 (4) 	B,C,E 
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(97) 	 97 

(1) 	A,B,D 	 (2) 	B,C,D 	 (1) 	A,B,D 	(2) 	B,C,D 
(3) 	A, B, C 	 (4) 	C, D, E 	 (3) 	A, B, C 	(4) 	C, 0, E 

Direction- In questions( 98-99) if two figures among five figures 	fodH- rn (9899) f3 -fR Izid' fT #5ff 	ftJd 
are interchanged then five figures arranged in certain order 	4FLnT f 	 w g1 ir Wzid f - 	t f -  - 
Find among alternatives. 	 tl'edl irf1 fut i 

98 	 98 

C 	0  - 	C DO 
(1) 	1,3 	 (2) 	2,3 	 (1) 	1,3 	 (2) 	2,3 
(3) 	1,2 	 (4) 	2,4 	 (3) 	1,2 	 (4) 	2,4 

99 

ETTrTT 
1 2 3 4 	5 

(1) 4,5 (2) 1.2 
(3) 2,3 (4) 3,4 

1 	2 	 3 

(1) 	4,5 
(3) 	2,3 

4 	5 

(2) 1,2 
(4) 3,4 

	

(100) How many squares are in given figure. 	 100 f 	ftii fr f 	r u? 

(1) 	32 	 (2) 	48 	 (1) 	32 
	

(2) 	48 
(3) 	78 	 (4) 	70 	 (3) 	78 

	
(4) 	70 
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101. A small source of light casts a sharp shadow on an 

opaque object shows 
1. Ray Nature of Light 

2. Wave Nature of Light 

3. Particle Nature of Light 

4. Duel Nature of Light 

102 In Domestic Electric Circuits appliances are 

always connected in 
1. Series 

2. Parallel 

3. Mixed 

4. Bulbs in Series and Fans in Parallel 

103 A force of 40 N acts on a body , and body moves 

through a distance of 2 metre at an angle of 450  in  

the direction of the force . The work done by the 

force is 
I. 	40/I2J 
2. 20['12J 

3. 801"12J 
4. 40/'i2J 

	

60 -1 	I 	I 	I 	1 	I 	I 	I 	1 	1 	II 	I 	It 	I 	I 	I 	I 	I 	I 	II 	I 	I 	I 	I 	I 	I 	IT 

104 
50 

/) 40 
E 

30 
C.) 
0 

20 

10  

101 	 B ' tWf1T  
'Qd' tdH'Qt' 	I 

1. U4d] 

2.  

3.  

4. UBdI&.Jd 

102 U1Zi It1l Hdc 

1 	5'd 

2. 	m-3d 

3- 

4. 	 'd 4f4 Ifif HHT3 

103 ffW VR-9 40 1n9a 	2 KIZU  
45 0 ;dt fUW f 	 I 

fjpjT itK J: 

1. 4o/i2T 

2. 20/I2r 

3. 80/I2 

4. 40'i2T 

104 

60 

50 

E 
30 

C.) 
0 

20 

10 

0 	5 	10 	15 	20 	25 	30 
Time (s) 

In the above graph what is the value of 
Acceleration? 
1. 	360 MS-2 	 2. 	180 MS-2 

3. 	0.9 MS-2 	 4. 	1.8 MS-2 

105 A Person cannot see the object beyond 50 cm, The 
power of lens to correct this defect will be 
I. 	+2D 	 2. 	-2D 
3. 	+5D 	 4. 	+0.5D 

106 If the frequency of wave is trippled then its wave 
langth? 

1. Becomes Double 
2. Becomes Half 
3. Becomes One third of original 

4. Remains same.  

0 	5 	10 	15 	20 	25 	30 
Time (s) 

	

fu ffra A t E 	 H 	? 
1 - 	360 MS-2 	 2. 	180 MS-2 

3. 	09 MS-2 	 4. 	1.8 MS-2 

105 fe3l fit 50 	}ff? 	T 	t 
, ftr 	r - 	zi 	zr 

Rt 	dff? 
1. 	+2D 	 2. 	-2D 
3 	+5D 	 4 	+0.5D 

106 i 	ft 	i t )1'dd1 f 
ftrti'1? 
1. 
2. 4itTi-'di1I 

3. iJI] J,- 	dfl! 

4. t i8 'p2-f 5fl ww 1 
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107 A positively charged particle (alpha particle) 
projected towards west is deflected towards north 
by magnetic field. The direction of magnetic field 
Is 

1. 	Downwards 	2. 	Towards South 

3. 	Towards East 	4. 	Upwards 

108 If distance between Earth and Moon is increased 
by Six time, then force of grativation between both 
will ...... 
1. Increased 1/36 times 

2. Decrease 1/36 times 

3. Increase 36 times 

4. Decrease 6 times 

109. A bullet of mass 20g is horizontly fired with velocity 
of 150 ms' from pistol of mass 2 kg. What is the 
recoil velocity of the Pistol. 
1. 	-1.5ms 	 2. 	+1.5ms 

3. 	-3.Oms' 	 4. 	Oms' 

110. A object is placed 5 c in front of Convex mirror, 
whose radius of curvature is 3cm. Find the Position 
and Nature of Image. 
1. +1.15 cm, Real and Erect. 

2. +l.lScm,Virtual and inverted 

3. + 1.15 cm , Virtual and Erect 

4. - 1.15 cm,Virtual and Erect. 

111 A current of 0.5 A is drawn by a filament of and 
electric bulb for 10 minutes . find the no of electrons 
flows through the circuit are 
I. 	6X10 8  Electrons 

2. 18 X 1 18  Electrons 

3. 6X1O 1  Electrons 

4. 18 X10 20  Electrons 

112 Which of following cannot hear ultrasound waves? 
1. 	Bats 	 2. 	Human 

3. 	Dolphins 	4. 	Dogs 

113 Refractives Indexes (indices) of Water =1.33, 
Kerosene=1.44, Ruby=171 & Diamond =2.42 are 
respectively , in which of these velocity of light is 
minimum? 
1. water 

2. Kerosene 

3. Ruby 

4. Diamond  

107  

f* #we UWW Waa few ffu 

1. 	TY q 8 	 2. 

3. 	VuEr :;5,0 	 4. 

108 #zru it 	W N -951 'd& t 6 	TP 

fiTr# ar #W f~tv jj 

1. I 

2. 3FFr  

3. 36TtrtI'dI' 

4. 6WZi-I'dI' 

109 WcT9 ffW 20 TUWift &t 2 fcT& TUWift tea UrUT 
150 MS'ift d'd TTU ñ1fdi-'d Id'1  UfLft t-4 at 

I 

1. 	-1.5 ms' 	 2. 	+1.5 ms - 1  

3. 	-3.0 ms 	 4. 	0 MS- 1  

110. ft 	?Q311 fi-iHtl 	 3 	t 
ftz 	, # 	ft umt 4I Vfi ift Hfl 

&4dl cJdIl....... 
1. +1.15{.,'H.Ica,  frnTr 

2. +1.15 

3. +1.15F. 1 '2{t 	fwIr 

4. - 1.15 r.K., )ffTff 4 fyfqr 

iii. f* 1-i1 	t 	0 .5A 	*? 10 fez 

'Ici 	faPv, Hdc( f 	rj 

fdb6i #t  fdIcdl 	I 

1. 60018  f5cd'6 

2. 18x10 18  rcd'o 
3. 6x102° rd'o 

4. 18x10 0  ftcd'o 

112 a76 fzifkp,It f4V fc*cJ' #iV Hed'H'Q 	W 

1. 	 2. 	H 

3. 	'1a 	 4. 

113. lP1=1.33,H16 
*zr J?fl fcio' W fr f 
UI? 4 ? 

1. lFe 
2. c(d)lló 

3. Ot 
4. J1W 
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Among Mg, Mg2 , Al , All  which will have the 
largest and smallest size respectively? 
1. Mg, Al 
2. Al 3+, Mg 
3. Mg, A1 3  
4. Al, Mg 2+  

Which of the following statements about the modem 
periodic Table is /are incorrect 
1. The elements in the Modern periodic table are 

arranged on the basis of their decreasing atomic 
number. 

2. The elements in the Modern periodic table are 
arranged on the basis of increasing atomic 
masses. 

3. Isotopes are arranged in adjoining or different 
groups in the Modem periodic table. 

4. The elements in the Modem periodic table are 
arranged on the basis of their increasing atomic 
number. 

1. 	lonly 	 2. 	l,2 and 3 
3. 	l,2 and 4 	4. 	4 only 

116 In Alumino-Thermite process aluminium is used as 
I. 	Oxidising agent 	2. 	Ore 
3. 	Reducting agent 	4. 	Catalyst  

114 Mg, Mg 2 , Al , AI 3 	 fr 

1. Mg 2 	Al 

2. Al 3 ,Mg 

3. Mg, A13+  

4. Al, Mg2  

115 	 fVV '}l'yIoc* 4FqTB1 H'dl 

1'/fu R 

1.  41I7c'1 'd1 H'del fu 
UFev UUKrT )f 	 }f 	 I 

2. 4FgFeTa 4Fqu~ft H'ddl fiev 3 ?' 
wru UHT 1 	f?W Htf 	T ftjpr 

3. 'PtTf 	')l 'd.1 H'd d1 fieV 4fT'4 

(D{H 1 1 'Oc i) 

iu.t f 	fti'v fapv i 
4. WT-di H'del f 	s' 

VW 1TJH't )f+ W6TFU  ).f9T4 3T fp.fr .  

1. 	 2. 	1,2f3 

3. 	1,2'{4 	4. 	4 

116 45)it 	H'Z (Alumino Thermite) [f1änT  Pft 
'5}fi?l1'n{ 

1. 	)1'c*H1o('dc1 	2. 	ttVT 
3. 	FuFarazr 	4. 

114 

115. 

117 The greater number of water molecule will be in 	117 
1. 	l8gmtoH2O 1. 	urdrg  
2. 	18 moles of water 2. 18 )-1 	4T 	f- 3. 18 molecules of water 

3. 	18 )fU't f - 4. 	1.8 gram of water 
4. 	1.8 uramf W1 f - 

118 Consider the following equation of chemical 
reaction of a metal M 
4M+302  -42 M203  
The equation represents :- 

I. 

	

	Combination reaction as well as oxidation 
reaction 

2. Combination reaction as well as reduction 
3. Decompostion reaction as well as oxidation 
4. Oxidation reaction as well as displacement 

reacton 

119 Identify the correct oxidant and reductant in the 
following reaction 
PbS + 4H202  - PbSO4  + 4H20  

118 	ff Tt dH' 	ci( 	 ffT 

td)VQt1 

4M+302  -42 M203  

ftr a 
 )4iI6 	1'olH1tI6 forfpn' 

2.  

3. ) 111 ciiH1o1d6ff6) 7 

4. l'o1Hlo1d6 sfrffdiT  

119 
fJdId old -  

PbS + 4H202  - PbSO4  + 4H20 

1. 

2. 

3. 

4. 

1. PbS 	- 	 i'coi]c1'dc( 
PbS - 	 Oxidant H202 	 - 

H20, - 	 Reductant 2. PbS 	- 

PbS - 	 Reductant PbSO 	- 	 i'oCH1cC'dcii PbSO4  - 	 Oxidant 3. PbS 	- PbS - 	 Reductant 
H2O2  - 	 Oxidant H202 	 - 	 }1'ciiH1c('d3ii 

H,02 - 	 Oxidant 4 . 	H O2 	- 

H
IP - 	Reductant H  0 	- 2 
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• 120 Silver articles become black on prolonged exposure 	120 	 W3 	y 	j r f 	ftj 	- i- t 
to air. This is due to the formation of 

	

1. 	Ag3N 	 2. 	Ag,O 	 1. 	Ag3 N 	 2. 	Ag20 

	

3. 	Ag.,S 	 4. 	Ag7S and Ag 1N 	 3. 	AgES 	 4. 	AgES 41A93N 

121 How many moles of NaOH are present in 160gofNaOh 
I. 	4mole 	2. 	2mole 
3. 	1 mole 	4. 	3 mole 

122 When a vegetative oil is treated with Hydrogen in 
the presence of Nickel catalyst it forms fat 
(Vegetable Ghee) This is an example of 
1. Displacement reaction 
2. Decompostion reaction 
3. Addition Reaction 
4. Double displacement reaction  

121 160g NaOH fev f 	NaOH 	t 
1. 	4 ci (mole) 	2. 	2 cc (mole) 
3. 	1 	(mole) 	4. 	3 il (mole) 

122 tiemm ul t(Vegetative Oil) ift ii-OatH6 S'51oci 
11Tfat f tv ffv TW flu 	r 

dH'ffec* fft T #t 9 le W d d- 

N H 9f 
2. 4fJU??5 f6(ffT 
3. 
4. UT& N H w Ll 6 ff 

123. This electronic configuration 2,8,6 represents 	123 2,8,6 1oc<'o1 dd1i 
element 	 4 I 
1. 	Calcium 	 2. 	Sulphur 	 1. 	4991W 	2. 	Hd 

3. 	Oxygen 	 4. 	Magnesium 	 3. 	 4. 

124. The Soap molecule has a 
1. Hydrophobic head and Hydrophobic tail 
2. Hydrophobic head and Hydrophilic tail 
3. Hydrophilic head and Hydrophilic tail 
4. Hydrophilic head and Hydrophobic tail 

125 pH is defined as 

1. - Log [H3O] 

2. - Log [H20] 

3. + Log [H] [OH] 

4. - Log [H] [OH]  

124 
1. RE 1u1 ftrrr 4fa ii5 fu1 u 
2. 
3. RF Rft fw 'f H6HóJ1 .rg 
4. 5HJ1 ftrrr wa,  FW fu1 jg 

125 	 I 

1. - Log [H 30] 
2. - Log [H 20] 

3. + Log [H] [OH] 

4. - Log [H] [OH] 

126 Which gas boils out first during fractional 	126 	45:ff c*(ke VhTF Ic*i1 ft FU t trftri' 
distillation of air. 	 'fZ3r tift 4 I 
1. 	Argon 	 2. 	Nitrogen 	 1. 	WraUTC7 	 2. Oli-6 

3. 	Oxygen 	 4. 	Carbondioxide 	 3. 	wraRTiRT 	4. c'dio 

127 Which of the following is a plant harmone 	 127. 	f5i%p7i f 	IoJv 1T JT ij?l : 

1. 	Insulin 	 2. 	Thyroxine 	 1. 	IjIo 	(2) 	IPFITZ&o 

3. 	Estrogen 	4. 	Cytokinin 	 (3) 	lHdt-Ió 	 (4) 	H'1'rro0 

128 The shape of guard cells changes due to change in the 	128. UFUU k#;&  
I. 	Protein composition of cells 	 (1) 	it? 
2. Temperature of cells 	 (2) 	FFr V 3IWS 
3. Amount of water in cells 	 (3) 	tP9 t ws 
4. Position of nucleus in the cells 	 (4) 	RFT WU 	1 

129 Which of the following is a true statement 	 129. 
1. Ovary releases three eggs in every month 	 (1) 
2. The eggs are produced in the uterus 	 (2) 
3. If the egg is not fertilized, it lives for about one 	 (3) 

day 
4. The fertilization takes place in the ovaries 	 (4)  

ftffcji EMN Rfh 
dl&tI 

t 	'I 

drth 

Th Tlj- 

Iai;Ido 	 fiev 
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130. The tissues that helps in the movement of body are 	130 feg # w# FaIU ift Waft BffF 8tt RUTt # 
(1) Muscular tissues (1) thff ftr 
(2) Skeletal tissues (2) 14:ra 1r 
(3) Connective tissues (3) 
(4) Conducting tissues. (4) 'IcJe1 

131. 	Match the terms in column  (A) with those in column 131 	Column (A) 	Column (B) WfHs1 s 
(B) Column A Column B 
Column A Column B (1) 1frs (a) 	P 
(1) Trypsin (a) 	Pancreas (2) HH'if f (b)irr 
(2) Amylase (b) 	Liver (3) fi -  Uff (c) 	A  H f~ 'Cg th1ç1  
(3) Bile Juice (c) 	Gastric glands (4) juf (d) 
(4) Pepsin (d) 	saliva 
(1) (i) a 	(ii) d 	(iii) 	b (iv) c (1) (i) a 	(ii) d (iii) 	b (iv) c 

(2) (i) b 	(ii) c 	(iii) 	d (iv) a (2) (i) b 	(ii) c (iii) 	d (iv) a 

(3) (i) a 	(ii) b 	(iii) 	c (iv) d (3) (i) a 	(ii) b (iii) 	c (iv) 	d 

(4) (i) b 	(ii) c 	(iii) 	a (iv) d (4) (i) b 	(ii) C (iii) 	a (iv) 	d 

132. Adenosine triphosphate (ATP) produces during 
in living organisms and also during 

in plants 
1. Photosynthesis , Absorption 
2. Respiration, Nutrition 
3. Photosynthesis, Respiration 
4. Respiration, Photosynthesis 

133. Muscles contain special protein called 
1. Contractile Proteins 
2. Vacuole Proteins 
3. Globular Protein 
4. Vesical Protein  

132 4191tHT16 cl'H 	( 	*i:ftf fqlt  

1. VOTR)I).Rie , Fri .  (Absorption) 
2. 
3. IF577T HHHO , wr ffpw 
4. wr f6lfrr , 	HHHd 

133. 	T1 WàTThv f wr U& ift q;~IW f1 4 i 
1. HIdi{1 
2. dHt'ó1 q;t5- 
3. dk5d 

4. Q fflc(m U?1 

	

fi%pi Rjlt f 	fr f 	'trr 	' 

	

134 Which of the following groups have naked embryos 	
134 	 (Naked 

Embi,os) 	T ? 
1. Bryophytes and Pteridophytes 	 1. 
2. Bryophytes and Gymnosperms 	 2. 	 ''f a,  fr . r 
3. Angiosperms and Pteridophytes 	 2d1'1H 
4. Pteridophytes and Angiosperms 	 4 	 )l,{ 

	

135 Which of the following cellular component of blood 	135 UU fKW fOV 7477 # 	 rr f 
containing haemoglobin 	 itf 
(1) 	Red blood Cell 	(2) 	White blood Cell 	 8  dd'd 	2. 
(3) 	Plasma 	 (4) 	Cytoplasm 	

- 	 4. 	W21.R5'inr 

136 Recessive characters will appear in 
I. 	F, generations 
2. F, generations 
3. both F, and F 2  
4. F3  only 

136 
1. fgu  
2. F2  !I1f 
3. F 
4. F3 fff 

137 Which of the following statements is correct 	137. u3 u frj%pflt  W No ;* I EMN gift ? 
1. Prokaryotic cells have a well defined nucleus 	 i. 	 fe . 	'. U, i 
2. Eukaryotic cells have no Mitochondira 	 2. 	dlc 
3. Prokaryotic cells having Mitochondira 	 3. iid1Qct  Ẁ f4v w1ijuI 
4. Eukaryotic cells having membrane bound 	4. t4cd1Qo 

organelles 	 un 
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• 138. Pineal gland is located 
	

138 
(1) 	On the kidney 	(2) 	In the Brain 	 1. 	 2. 	fwrf 
(3) 	Near Thyroid 	(4) 	In Pancreas 	 3. 	 4. 	9Tf 

139 Which of the following is body's largest blood vessel 	139 	fPr W Rat t 	 ti1 1oj1 
(1) 	Aorta 	 (2) 	Pulmonary Vein 
(3) 	Capillaries 	(4) 	Heart 1. HIftTHt 	2. 	T  tflf 

. 4. 
140 	Which of the following is not a raw material for 

photosynthesis 140 fi%Pi f4V 1*ci' urr 	iie ffiT  3t 
(1) 	Carbon dioxide 	(2) 	Water 
(3) 	Oxygen 	(4) 	Chlorophyl (1) (2) UT 

(3) i'coiTho 
141. 	The pair of equations 

X=Oandx=- ~ has 141. 	 ........ 
1. 	One Solution 1) ftr 
2. 	Two solutions 2) 
3. 	Infinitely many solutions 3) WTfjrT7 vivo- 
4. 	No solution 4) ?JTh 

142 	If a point (a,b) is equidistant from points (x+y ,y-x) 142. M 	(a, b) ffrnt (x+y ,y-x) 	'f 	(x-y, x+y) : 
and (x-y, x+y) then which of the following is true? f 	it211  ftv fc*cJ 	Wfl 
1 	ay= bx 	2. 	ax=by 1 ay= bx 	 2. 	ax=by 
3 . 	 a+b = x+y 	4. 	ay=b2x 3. a+b = x+y 	4. 	ay=bx 

143 For going to a city B from city A, there is a route via 
city C such that AC±CB. AC=2x km and CB=2 (x+7) 
km.it  is proposed to construct a 26km highway which 
directly connects the two cities A and B . Find how 
much distance will be saved in reaching city B from 
city A after the construction of the highway. 

	

1. 	5 k 	 2. 	6 k 

	

3. 	8 k 	 4. 	13 km  

143. fftr JrftJA 	rftr B 	 wftr C 
#IPT 	AC-CB IAC=20:Xh)f0=2 

(x+7) fHt: U21  I RtU A W4 Rfta B t f 
f&a 26 fftz 	r  WaW Ta7f!F-47 pr 

H1ftJB1ftJA 
w 	171 	 o1 	ff? 
1) 	5f}1t. 	 2) 	6f}ft 
3) 	8f}ff. 	4) 	13f}ff 

144 In quadrilateral ABCD ,LB= 90 0, LC-LD=600  and 	144 	ci-  ABCD ftV LB= 900,  LC-LD601  ))J  LA - 

LA -LC -LD= 100. Find the measure of the smallest 	LC -  ZD= 101 4 I 1Tjzdi-I Rz H'l.f 

angle of this quadrilateral 	 I 
I 	35 	 2. 	25° 	 1 	351 	 2. 	250  

3. 	500 	 4. 	550 	 3. 	500 	 4. 	551  

145. Find a natural number whose square diminished 	145 Qi ,'foc( )fpJT 	I firi 	i f 	84 
by 84 is equal to thrice of 8 more than the given 	ui'Q 	{'1T3 )I1%P71T f1 UTI# )1%P7IT f 	8 
number 	 # 	 iil I 
1) 	-3 	 2) 	12 	 1) 	-3 	 2) 	12 
3) 	6 	 4)9 	 3) 	6 	 4) 	9 

146 Find the common difference of an AP whose first 	146 	FTAP wr ir 	fi-oi*' Li ftrr w 1 4 4fg'  
term is 1 and the sum of the first four terms is one 	RD14 i.rftr 	 T 	f 
third of the sum of the next four terms. 	 fcj'1 I 

1 	2 	 2 	4 	 1) 	2 	 2) 	4 

3) 	1.5 	 4) 	-2 	 3) 	1.5 	 4) 	-2 

147 The mean weight of students of a particular class 
is 52 kg . The mean weight of boys of this class is 56 
kg and that of girls is 50 kg. Find the ratio of 
number of boys to the number of girls in the class. 

	

1) 	1:2 	 2) 	2:1 

	

3) 	1:1 	 4) 	2:3  

147 	 5 2 Kg 4 I 
ftr WHTU  ;@i 	5 6 Kg 

50 Kg 4 I ftr 5W7 f 
f)Htt 1dIe1 r  wFuTu 14 T  

1) 	1:2 	 2) 	2:1 
3) 	1:1 	 4) 	2:3 



A A 
22 

148 In figure PQ II BC. AP: PB = 
4 : 3. Find the ratio of areas 
of A BOC and A POQ 
1) 16:9 
2) 4:3 
3) 49:16 
4) 16:49 

149 In AABC,ZC=90° andtanA=1 
Find the value of 2SinA Cos A 
1) 	i2 	 2) 	½ 
3) 	1 	 4) 	1iI2 

150. 	Consider the following statements when two 
straight lines intersect 
i) Adjacent angles are complementry. 
ii) Adjacent angles are supplementry. 
iii) Vertically opposite angles are equal. 
iv) Vertically opposite angles are supplementry. 
1. (i) and (iii) are correct 
2. (ii) and (iii) are correct 
3. (i) and (iv) are correct 
4. (ii) and (iv) are correct. 

151. 	3.27 is  
1) an integer 
2) a rational number 
3) a natural number 
4) an irrational number 

152. The sum of all odd natural numbers between 0 to 
40 is 
1) 	1600 	 2) 	420 
3) 	400 	 4) 	210 

153. The empirical relation between mean, mode and 
median is  
1) mode = 3median - 2mean 
2) mode = 2median- 3mean 
3) median = 3mode - 2mean 
4) mean = 3median - 2mode 

154. If the perimeter of a circle is equal to that of a 
square, then find the ratio of their areas. 
1) 	14:9 	 2) 	13:11 
3) 	13:9 	 4) 	14:11 

155. Find the number whose square root is twice of its 
cube root. 
1) 	64 	 2) 	128 
3) 	16 	 4) 	4 

156. Fill in the blank 
49,343,64, 	,81, 729 
1) 	1024 	 2) 	512 
3) 	778 	 4) 	182 

148 	f Wz3d fee P0 II BC 
i AP: PB=4:3TABOC 

4f4 A P00 # 
UT 	T 

1) 16:9 
2) 4:3 
3) 49:16 
4) 16:49 

149. ft-i A 	ABC, fZC=9O° 'f tan A1 	2SinA 
I 

1) 	'J2 	 2) 	½ 
3) 	1 	 4) 	1f42 

150 	UU Tt )flh1 	f 

(i) I 
(ii) dI 	 • J?l 
(iii) ftB'r 	ld'1d 	J?I 	I 

(iv) ftm )T?jf # 	 s.  I 
1) 

2)  (ii)'f(iii)RftJ? 

3) (i)f(iv)RftU(5  

4) (ii)(iv)ii1U 

151. 3.27 f.................. 	I 

1) ftfT 
2) irftftrrr 
3) {u1ccftf%p{r 
4) 4fUftAV ftfT 

152 *f%PP 0 t 40;9' N-931 'd RfErg w,it 	i fç 

1) 	1600 	 2) 	420 

3) 	400 	 4) 	210 

153 f 	t 	){VW: ){t1W, W7W W97  )fftlw 
fffcj' Rtt tT? 

1) TuEzr = 3 ){ftlW-2 W7HTF  

2) s 0( = 2 WN cP 3 )f14).fT 

3) HftlW= 3 VU8W -2 WVWT 

4) -itn-r? =3 wfriw — 2 VU8W 

154 RZIU 	 ;U 

1jo' 	19' IJ' 	 I 
1) 	14:9 	 2) 	13:11 
3) 	13:9 	 4) 	14:11 

155 'rfiTft M44F var 
cue 

1) 	64 	 2) 	128 
3) 	16 	 4) 	4 

156. 	Wi 
49,343,64, 	, 81, 729 
1) 	1024 	 2) 	512 
3) 	778 	 4) 	182 
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157. In an examination a student scores 4 marks for each 
correct answer and loses 1 mark for each wrong 
answer. If he attempts total 60 questions and secures 
130 marks. Find the number of questions he 
attempted correct. 
1) 	35 	 2) 	38 
3) 	40 	 4) 	42 

158 A number consists of two digits . The sum of both 
digits is 11. If 27 added to the number then digits 
inter change their places . Find the number. 
1) 	47 	 2) 	65 
3) 	83 	 4) 	92 

159. If öä='I 	 thenthe 
value of x+y-z= 
1) 	1 	 2) 	9 
3) 	13 	 4) 	23 

160 Find the value of y in terms of x 
3x+4y-3 	= 	-3x+4Y-7 

7 	 9  

157. f 	feV f 	 t 4 

	

i 	fT fpT 
601ft 	130 *a TVU  3R4 at1R 
IFF th? 

1) 	35 	 2) 	38 
3) 	40 	 4) 	42 

158. W8t )?rf%PP' # 	114 I RA  aff ftf~F*F 
f 	27 i' f3r  w 	*ar n'n.r 

i fw 
1) 	47 	 2) 	65 
3) 	83 	 4) 	92 

159. Rzff - 42048 = -4 	= /y )3{ 	= ..JZ ' 

x+yzTtr3Tt 
1) 	1 	 2) 	9 
3) 	13 	 4) 	23 

160 	f mfl 	f V 	x x 

3x+4y-3 	 -3x+4Y-7 
7 	 9 

	

1) 	-24x-11 	2) 	-11 x-24 	 1) 	-24x-ll 	2) 	-11 x-24 

	

4 	 4 	 4 	 4 

	

3) 	- 4-1 1 	 4) 	- 24x-4 	 3) 	- 4x-1 1 	 4) 	- 24-4 

	

24 	 11 	 24 	 11 

161. Who was the first Viceroy of India? 
(1) Robert Clive 
(2) Lord Willam Bentick 
(3) Warren Hastings 
(4) Charles John Canning 

162. By which name was Punjab known in Ramayan and 
Mahabharat? 
(1) 	Panchnad 	(2) 	Sapat Sindhu 
(3) 	Panta Potamia 	(4) 	Lahore Suba 

163. In which year was Guru Teg Bahadur Ji born? 
(1) 	1605 	 (2) 	1628 
(3) 	1656 	 (4) 	1621 

164. To whom did Guru Har Rai Ji sent Delhi when he 
was called by Mughal Emperor Aurangzeb? 
(1) 	Prithvi Chand 	(2) 	Ram Rai 
(3) 	Dhirmal 	 (4) 	Harkrishanji 

165. Who is credited for demanding Swaraj from the 
Congress platform for the first time- 
(1) Surinder Nath Banerjee 
(2) Gopal Krishan Gokhale 
(3) Dadabhai Naroji 
(4) V.D. Savarkar  

161. WaU V UfJ& fHd 	ft 
(1) d'1d 

(2) 
(3) 
(4) 'i WcIódI 

162. 
RiTH 

(1) 	 (2) 	RiFa ffttr 
(3) 	iThP 	(4) 	o wu R7Err 

163. j' & wdreu iff 	rr art 	- 

(1) 	16051' 	(2) 	1628t: 
(3) 	1656t. 	(4) 	1621t: 

164. KUW TVRTU 4ddIil1 

'Qe 	ri'fJ1 	ffFft 
 fi-r91 10 le 	(2) 	TW UrfU  

(3) 	Via-  W-F 	(4) 	 ',Fft  

165. 1.(ftR3t Vr6 C( 'cJIdH # 	3 Hd 'i-I 	HF 
f Tff r Rir - 
(1) d?T16dt1l 

(2) 
(3) Txrff 

(4) t.H'dcd 
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166. Which Guru Sahib started the Manji System? 
(1) Guru Amardasji 
(2) Guru Angad Devji 
(3) Guru Ram Das ji 
(4) Guru Arjun Devji 

166. u 	t F64Fra fB TU H'IcJ 
(1) 

(2) w2ft 
(3) Ua Tw-,E~TRt 

(4) - i't 	I 

167. 	Which of the following cities was the capital during 	167. t,2T  rn 	'd 	 - .i- i dHLP'1 
Banda Singh Bahadur's Rule ? 	

- 

(1) 	Khanna 	 (2) 	Sirhind 	 1) 	T 	 (2) 
(3) 	Lohgarh 	 (4) 	Kethal 	

(3) 	ddi 	 4) 

168. When was the 'Gadar Party formed? 
(1) 	1914 	 (2) 	1913 
(3) 	1920 	 (4) 	1929 

	

169. 	During the middle of 19th Century Italy was divided into 
how many states and which one was ruled by the Italian 
Princely house- 
(1) 7, Sardinia-Piedmont 
(2) 6, Sardinia- Piedmont 
(3) 5. Florence 
(4) 6. Habsburg 

170. In France the female allegory was named as 
(1) 	Germania 	(2) 	Maria 
(3) 	Alice 	 (4) 	Marianne 

	

171. 	A liberal colonial officer who formulated new rules to  

168. UreU 14T 	T iR?H 	j-ffT - 

( 1 ) 	1914t: 	 2) 	1913t: 

(3) 	1920t. 	 (4) 	1929t 

169. 19 Th FOt )ftT fu 1] t fitt UTW f 	fcr 
fp fr 	fr 	I 	 fpj T Tf H - 

(1 	7,H'd1o1W 1.frW? 

(2) 6, 977Ptq7 

(3) 5, T8 dH 

(4) 6, cJt1ddI 

170. 

(1) 	jjT 	 (2) 	wtdrr 

(3) 	'H 	 (4) 

restore the freedom of the Press in India was- 	 171. f -  Qirrr H'1'tl 	Uc'd'l frH? YrTJ fr lh:r 
(1) Warren Hastings 	 -  

(2) Thomas Macaulay 
(3) William Bentick 	 1) 	H[dl 	(2) 	--- 

(4) Robert Clive. 	 3) 	 (4) 	d'Id 

172. Which one of the following countries is nota member 	172. -- ffP-  t 	 9 U IO 	 ii7t 
of South Asian Association for Regional Co-operation

HId__HdIOó (w) - cr 	- jTh - 

(SAARC) 	
(1) 	 (2) 

(1) 	Bhutan 	 (2) 	India 	
(3 	 (4) 

(3) 	Nepal 	 (4) 	China 
	tlT 

173 	Bywhatnamethecoastalplainsfrom DamantoGoaare 	173. 	H? 	&f 3 	dcfl >FJT 	f)R ?1 

knwonas ? 	 _____ 

(1) Malabar Coast 	 (1) 	H'&5''d 	? 

(2) Konkan Coastal plains 	 (2) 	E5 	 )-1"? 

(3) Eastern Coastal plains 	 (3) 	fErEil 	d1 H77 

(4) Northern coastal plains 	 (4) 	Q"cfl__ dJ1 ){5 

174. Which one of the following districts is the smallest in 	174. 1d5 	1cJH'i ?'i 1.flRT 	IccJ' frT gT zr 
area? 	 (1) 	-ftp,ii--r 	 (2) 	>I [o 
(1) 	Ludhiana 	 (2) 	Bathinda 	 (3) 	d 1 Te , RzAd 	 (4) 	UO'cc 

(3) 	Gurdaspur 	(4) 	Pathankot 
175. H 	 VUlf 	3 

175. Which one of the following regions normally experience 	 (1) 	f1r 	- -utr H' didi) 

the convectional type of rainfall? 	 (2) 	ñft tT 
(1) 	Equatorial region 	(2) 	South Polar Region 	(3) 	Q-f 	r trau 
(3) 	North Polar Region 	(4) 	Glaciated region 	 (4) 



176 	Ravi, Jhelum and Chenab are distributaries of which river 
(I) Godavari 	 (2) 	Ganga 
(3) Yamuna 	 (4) 	Sindhu 

177. Which one of the following agents causes the formation of 
V-shaped valley? 
(1) Snow 	 (2) 	Wind 
(3) River 	 (4) 	Sea waves 

178. Which type of soil is extensively found in Punjab 
(1) Black Soil 	 (2) 	Alluvial Soil 
(3) Red soil 	 (4) 	Laterite soil 

179. Which is the first express way of India? 
(1) Delhi-Calcutta 	(2) 	Mumbai -Pune 
(3) Bengluru-Chennai 	(4) 	Delhi- Mumbai 

180 	The food needs of any country are determined by? 
(1) The size of population and its standard of living 
(2) The geographical size of area 
(3) The urbanized population 
(4) The rural population 

181 	Tropic of Cancer passes through 	State 
(1) Bihar 	 (2) 	Uttar Pradesh 
(3) Mizoram 	 (4) 	Nagaland 

183 Which of the following countries does not have veto power 
1) France 	 2) 	India 
3) China 	 4) 	Russia 

184 The principle of 'Judicial Review ' has been taken from 
which country? 
1) United State of America 2) 	Germany 
3) France 	 4) 	England 

185 How many members are taken for the Lok Sabha and 
Rajya Sabha from Punjab? 
1) LokSabha- ll 	2) 	Lok Sabha- 13 

Rajya Sabha-9 	 Rajya Sabha-7 

3) Lok Sabha- 9 	4) 	Lok Sabha-l2 
Rajya Sabha-7 	 Rajya Sabha-2 

186 	Who is included in the 'electoral college' or electorate 
for the election of our President 
1) All the members of Lok Sabha 
2) All the members of Rajya Sabha 
3) Elected members of Lok Sabha, Rajya Sabha and 

elected members from State Legislative Assemblies 
and elelcted members from Union Territories. 

4) All members of Lok Sabha, Rajya Sabha and State 
Legislative Assemblies. 

187 	'Peaceful Co-existence 'is the part of which agreement? 
1) Panchsheel 
2) Simla Agreement 
3) Tashkand Agreement 
4) Nehru Layakat Agreement  
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176. 	 }c )f@ 	fr?tt'n' HJ'Ic( 	fTJ 

(1) dIt'dI 	 (2) 	0T&r 

(3) 1rl". 	 (4) 	ffp 

177. 	ff'• f 	V-shaped uv 	fw 	w 
(1) vau 	 (2) 	U' 
(3) ?t (faf) 	(4) 

178. 
(1) fi-i 	(2) 
(3) (4) 	 frt 

179. 	W t ifj 	Express UTEV fJ 	? 

(1) ft—cc' 	(2) 	)-U 
(3) 18 d 	(4) 	ft cit 

180. 	f* ft 	r'c #Nt td' f 	f 	1 6 W13TOlt 

(1) 
(2) WM7  
(3) EV T  
(4) 

181. 	 Urff W cjjtidtl 	? 

(1) ftu 	 (2) 	Qqr 
(3) 41){ 	 (4) 	o'i' 

fts it37 
(1) 	HJ'd'Hd 	 (2) 	di-Ici' 

(3) 	if-ft 	 (4) 	93 

183. 
1) 	T 	 2) 	'3 
3) 	1is 	 4) 	99 

184 'fvf 	 ftqrq fr t frs'v ftp fr ? 

1) 	 4JH1W 	2) 	RH5t 
3) 	F1 	 4) 	IdI 

185 	üww f 
UTI 

1 tar J1- 11 	 2) 	t5r R'- 13 
rir R-9 	 UrtT R79T- 7 

3) T_9 	 4) 	R' -12 
Tjf RW-7 	 UrtT HW-2 

186 	TEIMUI ift 	F& #T )f•5 f 	Tf 

1) 

2)  Alff  

3) 
1PB 	U3 

4) tar RT, UrfT R 	 f'o R 
Nu 

187 	'BtH  H1dJt '5 f1%pr' f 	fr m 

1. 

2)  fiRr 
3) I)fl.fT 

4) 3fuy f) T 

182. The area with more concentration of Jute mills in India 
are of 	 182 

(1) Maharashtra 	(2) 	Gujrat 
(3) West Bengal 	(4) 	Uttar Pradesh 
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188 	India opposes strongly at International lever for which 	188 	-d'iidl ifq 	•' 	fw 
issue? 
1) United Nations 	2) Foreign Companies 	 1) 	A ki Om UTmTa it 	2) ?ft 
3) Common Weath Nations 4) Terrorism in all forms. 	3) 	 4) U-6 f~?W j'it  I 

189 	Which rights are not given to foreigners? 
1) Political Rights 	2) Economic Rights 
3) Social Rights 	4) Economic Rights 

190 	The Chief Minister Generally belongs to - 
1) Rajya Sabha 
2) Lok Sabha 
3) State Legislative Assembly 
4) State Legislative Council 

191 	Right to 'Free and Complsory Education' was 
implemented in all over India on 	 ? 

1) March 2009 	 2) April 2010 
3) January 2002 	4) February 2014  

189 fitrT t fW W fJ II&ic*'d ?ff W4 Rk# ? 

	

1) 	d '1c()fftI' 	2) 	wraftFcT wftwr~r 

	

3) 	Hwf 	if 	4) 

190 	1 1?tr  Srt fw 	**rr 

	

1) 	5f RT 	 2) 	tar F3T 

	

3) 	Tftp? 	 4) 	7q fqr 

191 'gua rA4 Rt ftii%pv w 31Iqcd '  Yrda f 

	

1) 	H1 2009 	2) 	4PQF 2010 

	

3) 	i-1odl 2002 	4) 	9UVt2014 

192 Which among th following is not a key feature of 	192 	fWIW W 1Ut 1c' *R 	t 5ff ? 

Parliamentary form of Govt. 	 ? 	
1) 

1) Close relationship between Legilsiature and Executive 	2) 	ffu1.vf51 t f'Wf yiP 	t HT4t 
2) The Power of Judicial Review by Judiciary/ Courts 	 3) 	 " W3U Ti:l.  U•1f 1•  

3) Real and Nominal Executive 	 4) 	01p'fw ift N tp'i.piw 	fj 
4) Responsibility of Executive towards Legislature. 

193. The extra ordinary increase in agriculture especially 	193 
in the production of wheat and rice is called. 	 V71 t Eft Nr War fap,v? 
1. Wheat Revolution 	2. Paddy Revolution 	 1. U  aTa 	 2. 	11'? 
3. Green Revolution 	4. White Revolution 3 	 4 	ft t3t 

194 	The reward given to the entrepreneur for his factor 	 ___________ 
194 Q}ff 	r 	.uo 4 VF& Zft f)f f{Y 4 ? services is called: 

1. 	f44frFr 	 2. 	P?I 1. Interest 	 2. Rent 
3. Wages 	 4. Profit 	 4. 	Z 

195 	When more than required labourers are employed in 
any occupation , then these extra labourers is called 	195 
which type of unemplyed? 	 T1T 	it )rl 	fr 	t4dI'd fur i'ii'? 
1. Seasonal unemploed 	 1. 	?m-ff 	iiI'd 
2. Distiguished Unemployed 	 2. 	WVUE 9dt1dJ'd 
3. Industrial Unemployed 	 3 	QfdI 	IdI'd 
4. Under Unemployed 	 4 	 tIdI'd 

196 	The Government policy related to its revenue and 
expenditure is called: 
1. Monetary Policy 	2. Fiscal Policy 
3. Price Policy 	 4. Industrial Policy 

197 	When was the New Industrial Policy launched in India? 
1. 1948 	 2. 1956 
3. 1991 	 4. 2001 

198 	In India....................percent of people are living below 
poverty line. 
1. 21.9 	 2. 22.9 
3. 23.9 	 4. 24.9  

196 muarrar it wweN 'fl 	**tft ?l13T t aft twlT? 

	

1. 	)if 	?tt 	2. 	d ',lc4Hl 

	

3. 	 4. 	Q1dIcft3t 

197 	 Q fdlc( ?tI 	tit URI ? 

	

1. 	1948 	 2. 	1956 

	

3. 	1991 	 4. 	2001 

198 

	

1. 	21.9 	 2. 	22.9 

	

3. 	23.9 	 4. 	24.9 

199 Under MNREGA Scheme of the Government how many 	199 	•ø i'ti H1T w 	 fI* f 	r 

days of employment is provided to the labourers in India? 	 tIdI'd N 	 iiiT ? 
1 	 1. 	100 	 2. 	120 . 100 	 2. 120  
3. 150 	 4. 200 	 3. 	150 	 4. 	200 

200 	Banking Services are included in which of the following 	200 	1I Aq'' 	)1d1fI1t1 # fu 
sectors of the economy? 	 3T 	? 
1. Primary Sector 	2. Secondary Sector 	 1 	KVFr 	 2. 	& 
3. Service Sector 	4. Industrial Sector 	 3 	 4. 	 f3• 




